[EWEFHAMERY 5255 1089

AUTUMN GPA ( 0/150 BAR)

120K 90NW
CONTOUR INTERVAL = 0.1(10 Mx%x2/Sxx2)

1.4.31 BFIIBIT B GPA DARFESA (M)

AUTUMN ~GPA ( 2/150 BAR)

60N

30N

EQ

30S

CONTOUR INTERVAL = 0.1(10 M=x2/S%%2)

K 1.4.32 KFEICBITS GPA DKFEZA (20m)
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[EHEFHMRE H25% 1989

AUTUMN GPA ( 5/150 BAR)

120E 150E 180 1S0KW 120U 90W
CONTOUR INTERVAL = 0.1(10 Mxx2/S%x2)

1.4.33 FKFIZBITSH GPA DARFESA (50m)

AUTUMN GPA ( 7/150 BAR)
120E 150€

T1206  I1SOE 180 1S0W  120W . 9OW
CONTOUR INTERVAL = 0.1(10 Mx=2/Sxx2)

X 1.4.34 BEIZBITS GPA DKFSHHA (75m)
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SBEHAEMRESE H25%5 1989

AUTUMN GPA ( 107150 BAR)

60N

120E 150E 180 1S0W 120W S0W .
CONTAUR INTERVAL = 0.1(10 Mxx2/S%xx2)

B 1.4.35 FFIZBIFTH GPA DAFSA (100m)

AUTUMN GPA ( 15/150 BAR)

1206 1SO0E 180 1SOW 1200 90W
CONTOUR INTERVAL = 0.1(10 Mxx2/S5%%2)

X 1.4.36 *FIZBITH GPA DKFESA (150m)
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SEWMATHMHRE H255 1989

AUTUMN  GPA ( 20/150 BAR)
CI1SOW  120W

120E 150E 180
CONTOUR INTERVAL = 0.1(10 Mxx2/Sxx2)

X 1.4.37 BFIZBIT B GPA DKFESGA (200m)

AUTUMN GPA ( 30/150 BAR)

60N

{305

80S

T1208  1S0E 180 ISOW 120K  90W
CONTGUR INTERVAL = 0.1(10 Mxx2/Sxx2)

X 1.4.38 FZICBITH GPA DKF5H (300m)
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KEWATHMNTRE  $25% 1989

AUTUMN ~ GPA ( 40/150 BAR)
1206 IS0E 180 150W  120W 90K

CONTOUR INTERVAL = 0.1(10 M%x2/Sxx2)
1.4.39 KFIZBITB GPA DKESA (400m)

AUTUMN GPA ( 50/150 BAR)
120E 150E 180 150K 120W 90K

60N

30N

£EQ

30S

180 150K 120W 90K
CONTOUR INTERVAL = 0.1(10 M%=2/Sxx2)

B 1.4.40 BFIIBIFD GPA DKFEHH (500m)
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